
The following is a grammar for a subset of the Pascal language 
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The notation for the specifying tokens is from Section 3.3.

1.

Comments are surrounded by { and }. They may not contain a {. Com-
ments may appear after any token.

Blanks between tokens are optional, with the exception that keywords
must be surrounded by blanks, newlines, the beginning of the program,
or the final dot.

Token id for identifiers matches a letter followed by letters or digits:

letter — [a-zA-2Z|
digit — [0-9]
id — letter ( letter | digit )*
The implementer may wish to put a limit on identifier length.
Token num matches unsigned integers (see Example 3.5):
digits — digit digit*
optional_fraction - . digits | €

optional_exponent — ( E ( + | - | € ) digits) | €
num - digits optional_fraction optional_exponent
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The relation operators (relop’s) are: =, <>, <, <=, >=, and >. Note that
<> denotes #.

The addop’s are +, -, and or.
The mulop’s are *, /, div, mod, and and.

The lexeme for token assignop is :=.
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